- Electrical Engineering Tech

Breakout #1
m Find V1, V2, and V3 given:
$R1 +V1 Vv :&-E = R, 60V
) 'R, ' 2-R,+7-R,+R,
| Bt + - L sov=6v
60V = 2 R2 V2 10
rs v,=Ra g - sov=s2v
. 2R s R, ' 10
=0
_ v =R g — 2 sov=12v
R,=7-R,

NP
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Breakout #2 - KVL

m Find V1 and V2 in the circuits shown below

+ 06V _ lov_ﬁ = 5.6k£_J__6V
N A oouv—e| L
10V V,
= V, ¥= » E'R'$2'2kﬂ
(a) (b)

V,=10V +24V-10V -V, =0

+V,-6V-V,=0 V=14V
SV, =4V +10V-V,+6V =0

.V, =16V

NP
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Breakout #3 — Rint

m Find the internal resistance of the source, Rint

+
40V

(no load)
Step 1 — Draw the schematic w/the
given information
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Step 2 — Use standard circuit analysis
techniques including generalized
expressions

_VNL .

R. = R
int IL L
Butl, = VS0V =72 mA
R, 500Q
= 40V —500Q=55.6Q
72 mA

NP



